=T

50"

Notes:

1. Pole mount meter can on pedestal
2. For Residential or Urban Installations

_r
SETEIEIEIE

30"

45

s | 4-7\1 }

3. Maximum Cable Size: 4/0 URD A o
Triplex 4.5 N e
ITEM | PART # MATERIAL QTY ITEM | PART # MATERIAL QTY
] TBD  |Pedestal, Fiberglass 1 8 9182 |4—Terminal 200A Meter Box w/ 200A Breaker ]
2 9801-2.5 Terminal Adapter, 2.5" PVC 1 9 Form 2S Class 200 240V 3—Wire 18 1
3 19803-2.5|Bushing, 2.5 Insulating 1
4 9857 |Bolt, 3/8" x 17 SS J
5 9865 |Washer, 3/8” X 1" Flat 8
6 9880 |Washer, 3/8” Split Lock 4
7 9873 |Nut, 3/8" Hex 4
N PARAMETERS: .
DES'1'C None Meter Fiberglass Pedestal
120/240V 200A - 25kVA Transformer
3-Wire Self Contained Transocket
RUS ”Z,”,Zﬁ’?—
REV. O A Touchstone Energy” Cooperative ’_g?i



AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PART #

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
QTY

AutoCAD SHX Text
1

AutoCAD SHX Text
TBD

AutoCAD SHX Text
Pedestal, Fiberglass

AutoCAD SHX Text
1

AutoCAD SHX Text
2

AutoCAD SHX Text
9801-2.5

AutoCAD SHX Text
Terminal Adapter, 2.5" PVC

AutoCAD SHX Text
1

AutoCAD SHX Text
3

AutoCAD SHX Text
9803-2.5

AutoCAD SHX Text
Bushing, 2.5" Insulating

AutoCAD SHX Text
1

AutoCAD SHX Text
4

AutoCAD SHX Text
9857

AutoCAD SHX Text
Bolt, 3/8" x 1" SS

AutoCAD SHX Text
4

AutoCAD SHX Text
5

AutoCAD SHX Text
9865

AutoCAD SHX Text
Washer, 3/8" X 1" Flat

AutoCAD SHX Text
8

AutoCAD SHX Text
6

AutoCAD SHX Text
9880

AutoCAD SHX Text
Washer, 3/8" Split Lock

AutoCAD SHX Text
4

AutoCAD SHX Text
7

AutoCAD SHX Text
9873

AutoCAD SHX Text
Nut, 3/8" Hex

AutoCAD SHX Text
4

AutoCAD SHX Text
ITEM

AutoCAD SHX Text
PART #

AutoCAD SHX Text
MATERIAL

AutoCAD SHX Text
QTY

AutoCAD SHX Text
8

AutoCAD SHX Text
9182

AutoCAD SHX Text
4-Terminal 200A Meter Box w/ 200A Breaker

AutoCAD SHX Text
1

AutoCAD SHX Text
9

AutoCAD SHX Text
Form 2S Class 200 240V 3-Wire 1 

AutoCAD SHX Text
1

AutoCAD SHX Text
DESIGN PARAMETERS: 1. NoneNone

AutoCAD SHX Text
6/29/2022

AutoCAD SHX Text
REV. 0


	Sheets and Views
	UQ1.1P2-Alt


